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know—no meat—meet hear—here son—sun

TV

Whereisawill thereisaway.
Practicemakesperfect.



student driver worker
doctor boy girl man
woman
aboystudent
agirlstedent
amandriver
awomanworker

man woman

amanteacher
twomenteachers
awomandriver
twowomendrivers

twoboystudents
threegirldancers
man  woman man  woman

asalesman
threesalesmen
asaleswoman
threesaleswomen
— man

1. —man man

—man
workman - workmen
postman - postmen
dustman - dustmen
policeman - policemen
fireman - firemen
Frenchman - Frenchmen
2. —man

—Ss
German - Germans
Roman - Romans
woman women



1 LiPingisaboy.Hestudiesinthisschool.

2 Todomorereadingisgood.
3 Gettingupearlyisagoodhabit.
2. and

1 Thevarenewstudentsinthisschool. 2
PeterandJackbothlikeEnghsh.
and
Breadandmi lkiswholesomefood.
3. withtogether withbut like be-sides
aswellas of
ThemanwithablackhatisLiPing sfather.

4. something everything anything nothing
somebody everybody anybody nobody someone everyone noone either
neigher eachone theother

Noonesaysheisagoodcomrade.

Neitherofthemisright.

5.

Sixandfouristen.

Her“ SelectedPoems” waspublishedinl990.
1990

6. who that which

1 Ruijinisacitywhichhasaglorious revolutionarytradition.
2 Whoisthewomanthatistalkingwithourteacher

7.
Herecomesthebus.

1. people



police public

Thepolicearetryingtothrowlightonthematter.

2. family team group government
Myfamilyisnotlarge
Myfamilyareearlyrisers.
3. all any most mOre some none
Someofitisgood.
4. glasses goods

trousers clothes

apairof

Tom’ trousersarenew.
Thispairofglassismine.

Or eitheror neither nor notonly butalso
Therebe

Thereisapen twopencilsinthepencil box TherearetwoPencils
apeninthepencil——box.

Notonlyhebutalsohissisterisanartist.

Neitherhissisternorhisbrotherisaworker.
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Don tgetoffuntilthetrainstops.
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2. *“ can” help ”
Icouldn’ thelplaughingwhenlheardthegoodnews.

3. n0 “ noless than”

Thenumberofthestudentsinourschoolisnolessthan800.
800

4. not “ cannot too”

Wecannotstudytoohard.

1. nothing nobody none never hardly

TheBritishguardssearchedNathanHale’ sclothes.Theyfoundnothing.

IhaveneverbeentoLondon

2 . {3 tOO tO” {3 ”
Sheistooyoungtogotoschool.
3. “ stopdoingsth”

Shestoppedcryingandl istenedtothemusic.



1. Who What

Mikeishisgoodfriend.—who shisgoodfriend

Thereisabedintheroom.—What’ sintheroom

2. Whattime

It sseventhirtynow.—whattimeisitnow

3. Where.

Thenowersareinfrontof thehouse—Wherearetheflowers

4. What

Jack’ sfatherisadoctor.—whatisJack’ sfather HernameisRose.—
Whatishername

5. Howmany

Therearefiveapplesinthebag.—Howmanyapplesarethereinthebag

6. Howold.

Peteriseight.—HowoldisPeter

7. ” “ Whose ”
TheseareMary’ spens.—Whosepensarethese

8. Whatcolour.
Herbikeisred.—whatcolourisherbike

9 Whatday .

TodayisMonday —Whatdayistoday



Jennycouldn

Yes
tathief areyou
athief

tkeepbackhertears couldshe
“ No shecouldn’ t.”

NO

“ Youaren’' tathief areyou

“ No lamnot.”

1.YouarenotgoingouttOday areyou

No lamnot.
Yes lam.

2.Georgewasn’ ttherethatday washe

No hewasn’ t
Yes hewas.

No

“ Youaren’
lamnot



Youcan’ tcomeup
Thenthere’ sonlyonethinglcando youunderstand
Onceathief alwaysathief

Heaskedifal lofuswouldtakepartinit.
Heaskedwhatelseyouwouldlike.
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Can’ tyouseel’ mabird Whyhasn’ tanythingbeendonetoendthestrike

Couldyoutel Imeifthereisplentvofraininyourcounty
Doyouknowwhatthey’ relookingfor

whenwi I lhebeback doyouknow
“ doyouknow

think.say

Whichgirl Tmirtypounds
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